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Subtraction (Word Problems)

Q1. A fruit seller had 42 oranges. He sold 31 oranges out of it. How many
oranges were left with him?

Solution:

Q2. Tom gets 56 marks in science exam and his friend gets 44 marks. How
many marks does Tom get more than his friend?

Solution:

Q3. I had 37 chocolates. I ate 14 out of them. How many are left?
Solution:

Q4. A bus had 68 passengers. 34 passengers got down from the bus. How many
passengers are left on the bus now?
Solution:
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Subtraction (Word Problems)

Q1. A fruit seller had 42 oranges. He sold 31 oranges out of it. How many
oranges were left with him?

Solution:
T O
4 2
-3 1
1 1

Q2. Tom gets 56 marks in science exam and his friend gets 44 marks. How
many marks does Tom get more than his friend?

Solution:
T O
5 6
-4 4
1 2

Q3. I had 37 chocolates. I ate 14 out of them. How many are left?
Solution:

T O
3 7
-1 4
2 3

Q4. A bus had 68 passengers. 34 passengers got down from the bus. How many
passengers are left on the bus now?

Solution:
T O
6 8
-3 4
3 4
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